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AGRO-CLIMATOLOGY

Paper–206

Semester–II

Time Allowed : 3 Hours] [Maximum Marks : 30

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

4½ marks each and the entire Section C

consisting of 8 short answer type questions

carrying 1½ marks each.

SECTION—A

1. Expalin how medium range weather forecast in

useful for crops. 4½

2. Write down a brief note on the Central Plain region

of Punjab. 4½

3. How Microclimate of field is modified for better

crops? 4½

4. Explain various factors affecting climate of a

place. 4½

SECTION—B

5. What is Monsoon? How they are important for

Indian agriculture? 4½

6. What is Greenhouse effect? Enlist various

greenhouse gases. 4½

7. How climate change affects crops? 4½

8. Make neat and clean diagram of Cyclone and

Anticyclone. 4½
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SECTION—C

9. Write short notes on the following : 8×1½=12

(i) Dry Spell.

(ii) Heat Evasion.

(iii) Drought.

(iv) Mulching.

(v) Western Disturbance.

(vi) Tropic of Cancer.

(vii) Equinoxes.

(viii) Clouds.

PUNJABI VERSION

n otn otn otn otn ot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy

hryk pRSn dy 4½ AMk hn[ Bwg C swrw kro[ ies

ivc 8 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk

pRSn dy 1½ AMk hn[

BwgBwgBwgBwgBwg—A

1. ivAwiKAw kro ik mwiDAm drjw mOsm pUrv-

Anumwn PslW leI iks qrHW PwiedymMd hY? 4½

2. pMjwb dy kyNdrI mYdwnI Kyqr 'qy iek sMKyp not

ilKo[ 4½

3. Kyq dw sUKm jlvwXU vDIAw PslW leI iks qrHW

suDwirAw jWdw hY? 4½

4. iek sQwn dw jlvwXU nUM pRIBwivq krn vwly v`K-

v`K q`qW dI ivAwiKAw kro[ 4½
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BwgBwgBwgBwgBwg—B

5. mOnsUn kI hY? BwrqI KyqIbwVI leI auh iks qrHW

mhqvpUrn hn? 4½

6. grIn hwaUs pRBwv kI hY? v`K-v`K grIn hwaUs

gYsW dI sUcI bxwau[ 4½

7. jlvwXU qbdIlI PslW nUM iks qrHW pRIBwivq krdI

hY? 4½

8. smuMdrI qUPwn Aqy ivroDI smuMdrI qUPwn dw iek

swP suQrw ryKw-ic`qr bxwau[ 4½

BwgBwgBwgBwgBwg—C

9. hyT iliKAw 'qy sMKyp not ilKo : 8×1½=12

(i) su`kw dOr (Dry Spell).

(ii) qwp bcwA[

(iii) sokw[

(iv) plvwr (Mulching)

(v) pCmI gVbV[

(vi) krk-ryKw qpq-KMfI[

(vii) sMpwq (Equinoxes)

(viii) b`dl[
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